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Q1

Q2
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GENERALAPTITUDE

Which of the figures from the answer set
should follow the sequence in the problem
set?

Problem Set

OV

Answer Set

°
A

(A) B
B) A
(©) D
(D) C

©

v

Which of the figures from the answer set
should replace the question mark in the
problem set?

Problem Set
1 2
o\ = 1
3 4
(1) = ?
Answer Set
A B
(3) ()
OO,
(A) A (B) D
C) B (D) C

Q1

Q2

PRI STR—EHE W PI—UT 3Pl
UH—THE @ IHA H s8I AMRY?

©VIE®

JUR—4HE

ol

B

(A) B
(B) A
(©) D
(D) C

STR—AYE A Y BI—UT NPT UA—HE
# fau v gy & wIE Wl
AIRT?

Y-8

WANCIE
3 @ ﬂ4
TR

A@ BG}
JONO,
(A) A
(©) B

"

(B) D
(D) C
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Q4
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Which of the figures from the answer set
should follow the sequence in the problem

set?

\a

< s |

A B C D
(A) A
(B) D
©) B
(D) C

Which of the figures from the answer set
should replace the question mark in the
problem set?
Problem Set

Answer Set

A B

Cc D

(A) B
(B) D
©) A
(D) C

Q3

Q4

PRI STR—EHE W PI—T 3Pl
UH—THE @ IHA H s AMRY?
! |
|
< 4 &
A B C D
(A) A
(B) D
(€) B
(D) C
STR—E H W PN 3l Ay My
U8 H UT—UE & WM WR 37T
Bl
3 —4qg
- (= I
||| @
o | @ | 7
SIR—He
A B

(A) B
(B) D
©) A
(D) C
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QS

Which of the figures from the answer set
should replace the question mark in the
problem set?

h
4

-

\

\

A*B

C*D

(A) A
(B) D
(C) B
(D) C

PSG1 Consider the following Venn diagram,

MS-1

read the information given and answer the
question that follows.

A class of 200 children were asked to state
their favourite summer snack. Twelve
children said they preferred both, cookies
and ice-cream but not cupcakes. Six
children said they preferred ice-cream and
cupcakes, but not cookies. Eight children
preferred cupcakes and cookies, but not
ice-cream. Three children named various
snacks (pizza, burger, sandwich, etc.)
other than ice-cream, cookies and
cupcakes.

QS

PSG1

STR—AYE A Y BI—UT NPT UA—HE

¥ fau v y-—fae & wIe uR 31l
AR T?

h
4

-

\

\

A*B

C«D

(A) A
(B) D
©) B
(D) C

frferRad d9—3RE &l a9 ¥ gd
BU &I TS ol &l U< 3R A Ay 1y
U BT IR < |

Udh H&ll & 200 d=di Bl IId JAQIG]
BTN dRd (Fd) D IR H a™
PI BBT TAT| 12 9= A qar b 9
FbIST 3R AL Tl THE BRI &
R HIBART T8I | 6 gedi + gl b d
D AR PUDHEH YHT B © effch
FHDIST TG | 8 T A HUBIT 3R FbI]
BT AT fhaT oifdhT g™ &l A81 | 3
Tedl - JSHDBIH, BT 3R HUDT Dl
Bledx 3 faf= = (fusar, &),
Hefaa anfe) &1 udg faar|
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Q7

Q8

Q9
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How many children preferred exactly two

items?
(A) 23
(B) 20
(C) 26
(D) 29

What is the percentage of children who
preferred three items?

(A) 6

(B) 3

(©€) 8

(D) 4

How many children preferred all three
snacks: cookies, cupcakes and ice cream?
(A) 4
(B) 8
©) 6
(D) 2

If 10% of the children who preferred
cookies, changed their mind and said they
preferred jalebis, what would be the
difference in numbers between children
who preferred exactly one snack and
children who preferred three snacks?

(A) 159

(B) 162

(C) 163

(D) 164

Q6

Q7

Q8

Q9

fhae d=ai & TR & Wad Udg
fou?

(A) 23

(B) 20

(C) 26

(D) 29

fhae gfoerd g=af 9 9 wd g¥ig
fau?
(A) 6
(B) 3
(©€) 8
(D) 4

fpal =l 7 W TAN Eea—gdIo,
BUDBERT 3N GBI ywie fby?

(A) 4

(B) 8

(©) 6

(D) 2

Al HpISl gHE DR dlel 10 Ul
gl AT A g AP STl 9T THE Bl
8, 79 TBI—8] Ub Wb TS DR dTefl
ot 3R A WaT g¥E B dTel g4
@ 9 AT BT 3R AT BIIT?

(A) 159

(B) 162

(C) 163

(D) 164
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Q11

Q12
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Neelima starts from home and walks
northward to visit a temple. Then, she
turns left, walks equal distance straight
and makes some purchases from the
market. She turns left again, walks the
same distance from her home to the temple
toreach a library. Then, she turns left again
and walks until she reaches home. What
shape is her path likely to form?

(A) Circle

(B) Rectangle

(C) Triangle

(D) Oval

Six friends, L, M, N, O, P and Q are sitting
in a circle facing the centre. All neighbours
are at an equal distance from their
neighbour. Each person is seated exactly
opposite one friend. N 1is sitting neither
next to O nor M. L is sitting opposite O.
P is to the left of N. Who is N sitting
between?

(A) Qand L

(B) Qand P

(C) Mand L

(D) Land P

A cow eating grass on a field moves
towards the east. Then it turns to the right
and keeps grazing while moving. When it
stops moving, in which direction relative
to its first position will the cow be?

(A) South-west

(B) North-west

(C) South-east

(D) North-east

Q10

Q11

Q12

AT 3T B8R ¥ URY PR SR Dl
3R TP #fQR # I B | AP 918 I8
¢ ISP, VR TRER QA W Fordl &
3R I9IR W {Y WIGRI $HYll 5| 98
R | 90 JSaR Fefdl §8 JRIDI
Ugas & forg I+l 81 g 99 Bl ©
T 1 S8 R W Fadhx diQR Pl
ST BU @9 @7 off | 98 fv & 919 gl
2 3R 3T ©R UgdH & deril & | SHD
I D {5 MBR D g9 Bl FHTI]
27

(A) TMATHR

(B) H®IUT

(ORECRIEN

(D) SfSTPR

B8 M3 L, M, N, 0, P Ud Q U IR
IRR ¥ Dg B R TG B 90 & | W
USIT 31U USIAT ¥ U HAM g OR
I3 B B Ple Al Vb B9 & T
AFE 98T 2 | N9 a1 O ® S 97T daT
BARAE MD 8 g doT 2| L, O
@ AT ST 8| PN ® 918 3R doT 3|
N e a1 # a7 87

(A) Qud L

(B) Qud P

(C) MTd L

(D) LYa P

Uh TR b ©d H 9 aRdl g3 9@
&= @1 3R 9« 6 o] R a8 QN
il & 3R Feld gY AT |l SIRT @]
2| 19 g8 T 41 Bl & dl a8 3T+
Yo WIH ¥ fbd famm # grfi?

(A) =lerT — uf¥em

(B) SR — Ui

(C) =feror — gd

(D) I — qd
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Six friends, A, B, C, D, E and F are
sitting in a circle facing the centre.
All neighbours are at an equal
distance from their neighbour. Each
person is seated exactly opposite
one friend. D is neither next to nor
opposite C. A and F are sitting
opposite each other. B is sitting
opposite C. Who is sitting opposite
D?

(A) E
(C) B

(B) A
D) C

Consider the following statement to be
true even if it seems to be at variance from
commonly known facts. Choose the
conclusion that logically follows from the

given statement.

Statement:

All actresses are beautiful.

Conclusions

I) IfAisbeautiful, Amust be an actress.

IT) If Ais an actress, then A must be
beautiful.

IIT) A s ugly, A must be an actress.

IV) Actors are ugly.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Both conclusions I and IV follow

(D) None of the conclusions follow

.

Q13 ©% 19 A,B,C,D,EUd FU®
AR TRIN W g Bl AR JE
FRD IS & W USRI 3
TSRIT ¥ YHAAN G TR 93 § |
B BIs [BX0 Uop 1 & UepaH
A 6T 81 DA @ C D 1A
H 96T 8 AR F & I8
| §0T B | 3R b —qE B
AT 9 81 B C & 9MA §a1
21 D P AT BIF 90T 87
(A) E (B) A
€) B (D) C

Q14 fA=feiRad wemt &1 ¥ 9, 9ot 81 4

A U ¥ ST et o T el B
B U AT BN b - Ty Qg
T B BT THYOT FT A ATERVT B
8/%|

fa=or:
it R gex sl B

forepy :

) I AGR & af a8 A== B
a8 Y |

) afe AT & a7 gax g A1y |

1) A¥E 8, 1 A SIf= 89 a1y |

IV) 319 & a1l ¥ Bid 2|

(A) Baet FTpy [ 3TFARYT &xal & |

(B) ®acl fepy Il 3TRIROT Pl & |

(C) rpy I U& IV ST 3FTARTT el
B

(D) ®IS 1 fpy JraRor T8 &var & |
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Consider the following statements to be
true even if they seem to be at variance
from commonly known facts. Choose the
conclusion that logically follows from the
given statements.

Statement:

All the movies that Charlie Chaplin acted
in were silent movies. Some of his movies
were made by MGM.

Conclusions:

I) MGM makes only movies.

IT) Charlie Chaplin acted in some silent
movies made by MGM.

IIT) MGM made movies with dialogue
with Charlie Chaplin.

IV) Allsilent movies that Charlie Chaplin
acted in were made by MGM.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusion III and IV follow
(D) None of the conclusions follow

Consider the following statement to be
true even if it seems to be at variance from
commonly known facts. Choose the
conclusion that logically follows from the
given statement.

Statement:

Most cakes in a particular bakery are
expensive.

Conclusions:

I) There are no cheap cakes in that
bakery.

IT) All cakes in that bakery are
expensive.

IIT) There are cheap cakes also in that
bakery.

IV) Plum cakes in that bakery are
expensive.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Only conclusion III follows

(D) Only conclusionIV follows

Q15

Q16

faforfRad wemt &1 U a4, vl &1 9
= %Y W ST aedi 9 A= gdid sid
g I a BN b pHa—<ar/d fshy
QU 7T P &1 Tyl U A TR
PRAT B /B |

B :

gTeit duferd = fSra= oY oot & sy
b, w9 g v 21| S BB hed
TH. Sl UH, §RT §91¢ Y o |

forsp:

1) U©H Sfl. U dael fhed g9 2|

II) =l Jufe™ 5 T, S, UA. §RT
Y Y BB Fb {heri H AT
feparm o |

III) QA. i, UH. 9 drell <afed & ARl
die (Harg) dret fthed 91T |

IV) & 9 ther ST =retl auford o
ST fobaT, T, ST, UH. §RT §911Y
TQ o |

(A) Baet FTpY [ 3TFARYT &xal B |
(B) ®aal fospy 10 BT & |
(C) gﬂiﬁﬁf I gd IV SFT SR B

|
(D) ®I$ 1 fpy JIERvT &l T B |

ferferRad oMt BT 9 A, el 81
AT B4 W ST qedl 3 =1 ged 8Id
B U T BN b -1/ ey
QU 7Y P &1 Tyl U A TR
PRAT &2 /2 |

B :

IH 9B B SRR B Ae & |
fp:

1) SIS0 H Bls AT deb A8l B |
) 39 9B & W Db AT ¢ |
I1I) 39 9H8 # A& Db | 2 |

IV) 39 969 # U &b F8T B |

(A) @adl FrspY [ 3RO el B |
(B) ®acl fepy I 3TRIROT Bl B |
(C) dadl rspy M1 3HEROT PR B |
(D) dadt sy IV 3RO &val & |
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Consider the following statements to be
true even if they seem to be at variance
from commonly known facts. Choose the
conclusion that logically follows from the
given statements.

Statements:

Most metro homes are in buildings with
more than three floors. Most buildings in
metros with more than two floors have

lifts.
Conclusions:

I) Most metro buildings with lifts have
homes in them.

II) Many metro homes in buildings with
more than three floors have lifts.

IIT) All metro homes have lifts.

IV) Only metro homes with more than
two floors have lifts.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Only conclusion III follows
(D) Only conclusion IV follows

If HONEY 1is called CHOCOLATE;
CHOCOLATE 1is called SUGAR;
SUGAR is called JOY; and JOY is called
FREEDOM, which of the following is
made from cocoa beans?

(A) Chocolate

(B) Sugar

(C) Honey

(D) Joy

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Wide : Narrow :: Sharp : ?

(A) Blunt

(B) Pointed

(C) Knife

(D) Jagged

10

Q17

Q18

Q19

ferefeiad et BT dcg |, ¥l B
AET w0 W ST a2t ¥ B g sid
B I od B b dH—ar/9 ey
f3T 77 B BT BT BA A IFERIT
PRAT B/ |

HYT

BT BRI TR o #foTe
IR el wad § 2| A8FIRI &
AT W 3ifls aTel STfSpier va=T
forgew 21

4 A 4

e

) foraed drel 31fIpier AR wal
HER B

1) o ATl & 3ifSe dret wa=r #
3P FEFTRIT eRI H fores B |

1) T A8 o=T # fordes 2 |

IV) &aal <1 |iSTell | 31 aret
AN =R H forved B

(A) @adl FrspY [ 3RO el B |
(B) @aal +rspy I 3IERT Bral B |
(C) @ael frpy I 3ERYT B B |
(D) ®adl =Py IV IERT BT B |

IS 3BT BT dldhelc HET ST &, Aldhalc
DI YR P81 Sl 8 | I IR BT S S
PHET ST & 3R S BT W=l Hal
ST 8 o1 BidpT §179 0 fA=faiRad 5 9
T T 87

(A) didwde

(B) IR

(C) w8

(D) Sitg

I fdmed &1 99 B S dIeR o6 4
JH—BT HeRRT B ST U2 368 TR e
T Gefdd 2

AreT - Gaprof = G470 ?

(A) &IRE

(B) Tprer

(C) =1y

(D) Grax1
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Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Birds : Ornithologist :: Insects : ?

(A) Zoologist

(B) Biologist

(C) Entomologist

(D) Numismatist

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Ten : Decimal :: Two : ?

(A) Septet

(B) Binary

(C) Quince

(D) Quartet

If RED is called YELLOW, YELLOW is
called GREEN and GREEN is called
RED, which of the following colors will
indicate ‘Stop’ at a traffic signal?

(A) Red

(B) Green

(C) Yellow

(D) Blue

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Symphony : Composer :: Book : ?

(A) Publisher

(B) Writer

(C) Printer

(D) Sponsor

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Glitch : Fault :: Usher : ?

(A) Rush

(B) Silence

(C) Hush

(D) Guide

11

Q20

Q21

Q22

Q23

Q24

9 fadhed BT T B ST RN I8 |
JH—BT HeRRT B ST U2 3068 TR e
RIREIECE

el wefidse® « @ die @ ?

(A) U] AT

(B) Sig d=i+as

(C) ®lc AsndH

(D) H&T d=ii=h

9 fadhed BT T B ST RN 8 |
JH—BT GO B ST U2 3068 TR e
RIREIEC R

T TIHAG : : qr: ?

(A) T (HUCe)

(B) e (ST

(C) st (fdarA)

(D) TARTT (FART)

afd Tt BT UlelT BBl ST &) Ulell Bl
BT HET AT & BT DI ATl BT Sirdl
g I v Rrva wr fa=falad & @
PHF—T I “TERY” BT A <T?
(A) <l

(B) &1

(C) drer

(D) e

9 fddmed BT T B S TR e A
JH—BT HeRRT B ST U2 368 TR e
RIREIECE

TR - HdHR gD ?

(A) YbRIDb

(B) °oa®

(C) ga=

(D) UNI®

9 fddmed BT T B S TR e A
JH—BT HeRRT B ST U2 368 TR e
RIREIECE

TSdS @ IV YdeH ¢ 7

(A) frsvrs

(B) #H

(C) wiffer

(D) Arfesid
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If CATCH is called DROP, DROP s called
THROW and THROW 1s called TOSS,
which word will be used to ask someone
to pass the ball?

(A) DROP

(B) TOSS

(C) CATCH

(D) PASS

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Flautist : Flute :: Cellist : ?
(A) Violin

(B) Drums

(C) Cymbals

(D) Cello

Select the option that is related to the third
term in the same way as the second term
is related to the first term.

Perfume : Fragrance :: Honey : ?
(A) Liqud

(B) Sweetness

(C) Brown

(D) Crystal

In a code language, RHYTHM is coded
as ISBGSN. How will DRUM be coded
in that language?

(A) WIIN

(B) WIFN

(C) WONF

(D) WEDN

Ina code language, CAREER is coded as
XZIVVI. How will EXAM be coded in
that language?

(A) VCON

(B) VCZN

(C) VBHI

(D) VION

12

Q25

Q26

Q27

Q28

Q29

Ifq &d B g4 HBT ST &, S19 B A
BT ST B, 2 BT ST 8T Sl & <
Y &1 dfet 3Tl g™ @ forv fhw v
DT UUNI Ira’ﬂall \ﬂIQ‘II?

(A) M

(B) <™

(C) da

(D) urd

I fAhed BT T BN S IR I8
JH—B! LT B Sl VM 3ea N IR
O Gefdd 2

EIRNECICCIRICIES N BRI IS | CI CT o
(A) arafer

(B) ==

(C) HoiRT

(D) arcrTHe

I fAbed BT T BN S IR I8
JH—B! e B ST VM 3ea N IR
T Gefdd 2

gard ;g ;o 28e 7
(A) T

(B) o™

(ORI

(D) fhed

=0 PIe AT § RHYTHM &I ISBGSN
P ®U H die fhar a1 8, S| " H
DRUM &1 &% ®1s fbar Se?

(A) WIIN

(B) WIFN

(C) WONF

(D) WEDN

¥l ®re 9T § CAREER &1 XZIVVI
P ®U H die fhar a1 8, S| " H
EXAM &1 ¥ BIS fhar Sier?

(A) VCON

(B) VCZN

(C) VBHI

(D) VION
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Which word CANNOT be formed using
letters of the given word only as many
times as each letter appears in the word?
MUTATE
(A) Eat

(C) Mute

(B) Teat
(D) Meet

Which word CANNOT be formed using
letters of the given word only as many
times as each letter appears in the word?
TERRIFY

(A) RIFT

(B) FERRY

(C) TIER

(D) FEET

In a code language, FIGHT is coded as
EHFGS. How will PIECE be coded in that
language?

(A) OHFED

(B) OHEBD

(C) OHDBD

(D) OHDED

In a code language, CHILD is coded as
EJKNF. How will PARENT be coded in
that language?
(A) RIUTVC
(B) RCTGPV
(C) RCTVPG
(D) RCIOTC

Which pair of numbers is the odd one?
(A) 5,125

(B) 4,32

(C) 3,27

(D) 2, 8

(A) A
<€) C

(B) B
(D) b
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Q30

Q31

Q32

Q33

Q34

QU U g B IR BT STIANT BRD
f=faRad & & @9 1 ¥eg 981 9911
ST Fhdl? B8R IR BT YIANT S+l 1 I
faT ST AhdT 8 Tl IR ST TN

T ¥ a1 BT

MUTATE

(A) Eat (B) Teat
(C) Mute (D) Meet

QU 0 g @ IR BT STIANT BB
f=forRad & & &9 71 ¥eg 981 9911
ST Fhdl? B8R IR BT YIANT ST 81 d°
{2 ST AhdT 8 el IR SHdT TN
3Teg ¥ a1 BT

TERRIFY

(A) RIFT

(B) FERRY

(C) TIER

(D) FEET

f&¥il wrs 9T § FIGHT &1 EHFGS &
®U H B fHar T 8, S 9T H
PIECE &I &9 &g fHar Seer?

(A) OHFED

(B) OHEBD

(C) OHDBD

(D) OHDED

{1 ®Ie W # CHILD %1 EJKNF &
®U H B fHar T 8, S 9T H
PARENT &1 &\ dIs fdbar SIme?
(A) RIUTVC

(B) RCTGPV

(C) RCTVPG

(D) RCIOTC

fforRad TRl &7 & H—3T SISl 3
= 87

(A) 5,125

(B) 4,32

(©) 3,27

(D) 2,8

(A) A
<€) C

(B) B
(D) D
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Q35

Q36

Q37

Q38
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In a code language, PAIR is written in a
certain code as 1234, LAIR as 5234 and
LIMP as 5396. What is the code for the
letter ‘I’ in that code language?

(A) 1

(B) 3

©) 9

(D) 6

Which number will replace the blank in
the series?
1,8,27,64,125,
(A) 216

(B) 225

(C) 250

(D) 206

343

>

What will be the value of the expression
given below if the ‘+’ sign is replaced with
‘+7; ‘- 1sreplaced with “x’; “+’is replaced
with °-’; and %’ is replaced with *+’?
65-10+5+3 x4=7

(A) 12

(B) 110

(C) 131

(D) 9

Which pair of numbers is the odd one?
(A) 1,2

(B) 5,24

(C) 7,50

(D) 6,35

(A) A
B) C
©) B
(D) D
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Q35

Q36

Q37

Q38

fxf ®Ie 9T # PAIR ®1 1234 & U
# LAIR @1 5234 ® w9 H, LIMP &I
5396 % w4 H PIS fHaT AT B, SH W
H T R & U &1 HIs B8RIT?
(A) 1

(B) 3

(©) 9

(D) 6

ATl S T SRIeT H Tell I UR P IF—T
HET JATGH?

1, 8,27, 64,125, 343

(A) 216

(B) 225

(C) 250

(D) 206

gfe + BT+ H gEAT T B, -7 B
> H AT ST B, “+ DI = H, 3[R x°
P + H 9T SfaT & dr A fu e
ST BT A9 FIT BITT?
65-10+5+3x4=2

(A) 12

(B) 110

(C) 131

(D) 9

frfoIRaT TRARIT BT HH—T SIIST 3
o =1 87

(A) 1,2

(B) 5, 24

(C) 7, 50

(D) 6, 35

(A) A
B) C
©) B
(D) D

SET-A-A



Q39 Some of the given equations are solved

on the basis of a certain system. Using the
same system, find the correct answer from
amongst the four alternatives for the
unsolved equation.
45-25=2,

78 —45=3,

61 —40="7

(A) 1

©) 2

(B) 5
(D) 6

PSG2 The bar chart below shows the production

Q40

Q41

Q42

MS-1

of different cereals over the years in
hundreds of tonnes. Study the given
information and answer the question that
follows.

o 7 o
Z Y I

Which crops were produced in the same
quantity in two different years?

(A) Rice and Jowar

(B) Jowar and Maize

(C) Riceand Maize

(D) Rice, Maize and Jowar

The difference in quantity between the
lowest and highest production of any crop
is approximately:

(A) 10 tonnes

(B) 8tonnes

(C) 800 tonnes

(D) 10,000 tonnes

Rice production figures between 2004 and
2007 show a:

(A) 5% drop

(B) 55% drop

(C) 55% increase

(D) 5% increase

15

Q39 ™ fau v FHExvl BT Tk Af¥Ed

YUTTell & IR WX &l fobar a1 & | S0
JUTTell & SR W =19 3T MY 3Fgerst
THHRT & forg IR fAwedt & | w8l
IR BT Udl eV |

45-25=2,
78 —45=3,
61 —40="2
(A) 1 (B) S
(€) 2 (D) 6

PSG2 T fear war =d fuser anl § faf=

3T b SATed bl A e # yelia
BXAT B | & TS STFBRI BT NETIT B
3R fA=ferRad g &1 SR < |

E

sl

Q40 < fafa=t auf #§ D el BT ST

Q41

Q42

UHHH HATAT H ar?

(A) T@d AR AR

(B) SR 3R HdphT

(C) 91T 3R Adp]

(D) 9@d, AdHT 3R IR

fell ff vt & faH IR S
IAET & §1F AT BT 3[R BRId—DhNd
=T 87

(A) 10

(B) 8 <

(C) 800 T

(D) 10,000 T

2004 ¥ 2007 & I A SAGRH B
s I8 < &

(A) 5% @ B0

(B) 55% @1 B

(C) 55% & dig

(D) 5% @1 g
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Q43

Q44

Q45

Q46

In which year did maize register a nearly
three times increase in production?

(A) 2005

(B) 2004

(C) 2006

(D) 2007

In which year did all three crops register
an increase in production over the
previous year?

(A) 2004

(B) 2005

(C) 2007

(D) 2006

In which year was almost double the
quantity of jowar produced compared to
the previous year?

(A) 2006

(B) 2007

(C) 2004

(D) 2005

Which crop registered the largest dip in
production in which year, when compared
to the previous year?

(A) Jowar in 2007

(B) Maize in 2006

(C) Ricein 2005

(D) Jowar in 2006

PSG3 The pie chart below presents data on the

MS-1

most favourite writer as stated by 300
school children. Study the given
information and answer the questions that
follow.

JK Rowling

16

Q43

Q44

Q45

Q46

AFpT B SedTad ¥ B gy H <l o
afe g% &7

(A) 2005

(B) 2004

(C) 2006

(D) 2007

fha o & W N1 Baal & ST H
fUsa a8 &1 o afs g3 &7

(A) 2004

(B) 2005

(C) 2007

(D) 2006

fhd a9 § IR HT SR fUse Iy &
T | SR SR BT AT 1Y

(A) 2006

(B) 2007

(C) 2004

(D) 2005

fha v, fbw v & Sred # fuse
P T H FIH 3N RRTEe 3mg?
(A) 2007 § <OR
(B) 2006 % HdmT
(C) 2005 # dmae
(D) 2006 # <OR

PSG3 - fear ar ug—ae fdemea & 300

dod] §RT 9d0 0 Fad 31ferd uddiaT
JEd B Iffdmst BT IR BT § | A
g STFBRNI Bl Gghx Ad U T ge=i
P SR < |

JK Rowling
Enid Blyton
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Q47

Q48

Q49

Q50

MS-1

What percentage of children stated ‘Enid
Blyton’ as their favourite author?

(A) 10%

(B) 16.6%

(©C) 12.4%

(D) 9%

How many more children like Enid Blyton
and Ruskin Bond than the number of
children who like JK Rowling?

(A) 10

(B) 20

©) 1

(D) 5

If one-fifth of the children who like Enid
Blyton decided to drop out of the survey,
what would be the new percentage of
children who like Enid Blyton?

(A) 13.79%

(B) 11.4%

(C) 10%

(D) 9%

If 10% of the children who stated JK
Rowling as the favourite author changed
their preference to Roald Dahl, what will
be the new percentage of children who
like Roald Dahl?

(A) 17.14%

(B) 71%

(C) 23.6%

(D) 20%

17

Q47

Q48

Q49

Q50

fbas ufaerd d=ar 9 Ufs =Ised &l

3TYUAT L‘I‘{'I.Ci\lcil [GECEZRCIRIR %7
(A) 10%

(B) 16.6%

(C) 12.4%

(D) 9%

i AfeRT &I g¥g & drel gedi al
T b1 T H b= 31eIep 9= girs
llscd 3R IRPA di~s Bl g¥g HYd
14

(A) 10

(B) 20

©) 1

D) 5

g ufe sliged &l g oA arel 1/5
ol 39 HAToT Y 918 et T Fofg
ofd & d1 U solised &l 9xig &y drel
gTdi o1 AT gfaerd a1 e

(A) 13.79%

(B) 11.4%

(C) 10%

(D) 9%

Ifd ST AT BT UAT TALIET b
A aTel 10% <0 Jes S & UeT H
Y UG 9ae ofd & Al NIes SI8e Bl
UG dxe dlel dedi BT FaT ufaera i
BIRTT?

(A) 17.14%

(B) 71%

(C) 23.6%

(D) 20%
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Q51

Q52

Q53

Q54

Q55

MS-1

GENERAL KNOWLEDGE

Regional Centre in Lucknow is
designed to provide working facilities to
the artists in the disciplines of printmaking,
sculpture, ceramics and painting.

(A) Jawahar Kala

(B) Lalit Kala Akadem1
(C) VastuKala

(D) Correa Kala

The Board of Control for Cricket in India
(BCCI) has signed a Letter of Intent (Lol)
with the UN Environment to promote
cricket in India.

(A) safe

(B) green

(C) red

(D) white

Who among the following was given the
‘Chief Minister of the Year’ award for her
remarkable work in e-governance at the
52nd Skoch Summit held in New Delhi?
(A) Sheila Dixit

(B) Sushma Swaraj
(C) Uma Bharti

(D) VasundharaRaje
Turkey’s president won the
re-election in June 2018 and is now the
most powerful president in Turkey’s
history.

(A) Selahattin Demirtas

(B) Recep Tayyip Erdogan

(C) Muharrem Ince

(D) Cundullah Fidan

The first or early phase of Indian
Nationalism is also termed as the

Phase (1885-1905).

(A) Terminal

(B) Initial

(C) Moderate

(D) Critical
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Q51

Q52

Q53

Q54

Q55

TGS H g B, FieHfdT,
Afdwar, g1 @ —aw iR RE®ar @
ol H BABRI BT BRI Fae] g&r
P B Ty wenfua  fasam 1 B |

(A) STTER el

(B) <o dell 3fbTaH]

(C) ARG Pett

(D) HRI Bell

IS 3 Held BR fhbe 39 sfeAT
(@A Wans) 7 IR # e
BT 9QMAT <1 D Y JUA.SARRIC &
WTRT Udh 3R U (Tet.37l. 3718) IR FHIRR
fby 2 |

(A) gefra

(B) &1

(C) efre

(D) \Bg

5 facell o ST 520 Yhra T
¥ 39 H Sb Sl BIH B
forv fm=ferlRad & & foaer O fAfaes
3 T TIR YREPR a1 17

(A) e dfere

(B) T RIS

(C) SHT ARl

(D) aGERT ISt

S 2018 ¥ gab! &b RTgUley

fir & g@ § Sd 3R 3@ qaf &
gfosrT & ey wipemel ¥neufa 2 |
(A) HolBe MY

(B) R¥u =y gaiA

(C) Ie¥d 5

(D) BgeeTs fhar

IR MEATE & Ugel AT YRS aRoT
Eal ZRUT (1885-1905) I @&l
ST 8 |

(A) 3ifem

(B) 3IRM®H

(C) wegH

(D) Wyl

SET-A-A



Q56

Q57

Q58

Q59

Q60

MS-1

Mahatma Gandhi founded the Satyagraha
Sabha in .

(A) December 1920

(B) March 1918

(C) February 1919

(D) April 1921

was the first Indian leader to start
an agitation for political reforms in India.
(A) Subramania Iyer
(B) Raja Ram Mohan Roy
(C) Ananda Charlu
(D) Mahatma Gandhi

Which of the following actors has been
honoured with the Chevalier de L' Ordre
des Arts et des Lettres (Knight of the
Order of Arts and Letters) by the French
Government for her contribution in
strengthening Indo-French ties in Cinema?
(A) Kangana Ranaut

(B) KalkiKoechlin

(C) Priyanka Chopra

(D) Deepika Padukone

On 28 December 1885, the Indian
National Congress (INC) was founded in
the premises of Gokuldas Tejpal Sanskrit
School at

(A) Delhi

(B) Bombay

(C) Calcutta

(D) Madras

The Satyagraha of 1917 was
Mahatma Gandhi’s first Satyagraha and a
major revolt in the Indian Independence
Movement.

(A) Kheda

(B) QuitIndia

(C) Civil disobedience

(D) Champaran
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Q56

Q57

Q58

Q59

.Q6O

AT TR AAWE T BT RIYA]
H P ol |

(A) fdEar 1920

(B) Ard 1918

(C) HYaNI 1919

(D) 3meT 1921

R H STl GeIRT &
o SrfRTer T BR dlel Usel AR
T 21|
(A) GIHUAT 3R
(B) TSI M HIEA I
(C) 3Hq I
(D) #BTcHT e

RIAT H SS-BRIAT Gedl Bl Aoiga
g9 H SHD AN & forv iR
RAR gRT =ferRad & 4 fow afmar
Pl AR S U 3ifs <9 A e
S99 dgd (Knight of the order of Arts
and Letters) & w1 fdar am 287
(A) PHIET AT

(B) ®fedr dpaferd

(C) it =usT

(D) AfUBT YIgeh =

28 fadaR 1885 I, YR I HIUH
(31TS. T30 @1 RIYAT TTezelaT™ doaTe
AP Whel B YRER ¥, 4
8% o |

(A) Taeet

(B) w9

(C) ol

(D) "o

1917 b1 AN E A [HAT
TN BT USell TdUs o7 3R R4
AT 3MaTeE | U ol fagis o |
(A) ST

(B) 9IRd BISI

(C) AR 3ra=iT

(D) JURIT

SET-A-A
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Q62

Q63

Q64

Q65

MS-1

India’s football team captain

jointly holds the position of the second
highest international goal scorer among
active players along with Argentina’s
Lionel Messi.

(A) Subrata Pal

(B) Sunil Chhetri

(C) Bhaichung Bhutia

(D) Gurpreet Singh

The Haryana Assembly unanimously
passed Criminal Law (Haryana
Amendment) Bill, 2018 providing for the
death penalty for convicts found guilty of
raping girls aged years or less.
(A) 13

(B) 12

(C) 14

(D) 15

In 1866, organised the East India
Association in London to discuss the

“Indian question” and to influence British
public officials to promote Indian welfare.
(A) Dadabhai Naoroji

(B) Mahatma Gandhi

(C) Bipin Chandra

(D) Jawaharlal Nehru

India accounts for over of the
global cotton area.

(A) one-third

(B) one-fifth

(C) half

(D) one-fourth

Indian agricultural contribution to the
national gross domestic product (GDP)
1s about %.

(A) 38

(B) 35

(C) 25

(D) 15
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Q61

Q62

Q63

Q64

Q65

AR Bedldd S & BRI

ISICHT & fordid w0 & A1l Hfshd
TR TR Il £

(A) GId dret

(B) gfet w3

(C) e e

(D) TR iz

gRamn foem=asr 3 wdw=fa @
SRS HIIA (BRATOT HeMEH) 2018,
R TiRd fdbar, ST AT
T IO HH SH Bl dsfbal I ThR
@ QT Y Y SAMRghl @ T A1 @
TSI BT WG BNl B |

(A) 13

(B) 12

(C) 14

(D) 15

1866 #, IRT & F=¥ H =TT B 3R
YRR B9 BT gerar o & o1y fafesr
i fSEIRAT B yifad & ©
foT oiea # S sfear vailRweE &1
Mo fdaet fobar?

(A) TRMIS ARISH

(B) #BTcHT e

(C) fai =g

(D) STamE@R el 985

IRgPs HU SR H AR &1 BT
| 3D B |

(A) TP fasRE

(B) U dfwan

(C) 3ren

(D) T dierg

YRA & Adhdl B¢ e (SSidn) 4
S ARTRT ST % B |
(A) 38
(B) 35
(C) 25
(D) 15
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Q67

Q68

Q69

Q70

Q71
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Which of the following is NOT one of the
main defects of agricultural marketing in
India?

(A) Lack of storage facility

(B) Lack of transportation

(C) Favourable mandis

(D) Lack of market intelligence

UP shares its borders with the maximum
number of states. Which of the following
states is NOT one of them?

(A) Uttarakhand

(B) Odisha

(C) Madhya Pradesh

(D) Jharkhand

Lake 1s the largest brackish water
lake of India. It is also the largest lake of
India.

(A) Dal

(B) Chilika
(C) Wular
(D) Didwana

soil is by far the largest and the
most important soil group of India.
(A) Red
(B) Black
(C) Alluvial
(D) Laterite

Which city is known as the ‘steel city of
India’?

(A) Mumbai

(B) Kolkata

(C) Kochi

(D) Jamshedpur

Who was honoured with the 2017
Hridaynath Mangeshkar Award at an event
in Mumbai?

(A) Shashi Kapoor

(B) Amitabh Bachchan

(C) A.RRahman

(D) Javed Akhtar
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Q66

Q67

Q68

Q69

Q70

Q71

g9 W B AT ARd H PV [quorT &
T QN H ¥ Ub 8T 57

(A) WSRUT Gfaer &1 B4l

(B) gRdsd P wH)

(C) gt He

(D) Hide gferoid @t HHl

TR TS Pl Aot AT Faifeld o
BT W Bl 8 | FEfaRad § 9 dF
AT ST 3 e e 87

(A) STRIES

(B) 3SR

(C) HeT UQeT

(D) SIRES

et TRT &1 Fad g1 WR g™l
B A B | T8 ART BT Ga g9
B
(A) s
(B) =rerenT
(C) T
(D) SreaFl

B8 aRa # @@t "= |
IRY ST B |
(A) ofTe
(B) ®rcl
(C) Sielie
(D) <levTge

b o8R &l Wial ST offp sfeare &
A ¥ STET STraT 87

(A) 57

(B) PIABIT

(C) Pifem

(D) SFRIYR

H9g H ARSI Tb FARTE A by gl
Bl 2017 & BEITRT HITHR REHR U
I fobar e

(A) AR PR

(B) 31Ad™ I+

(C) T 3R, &I

(D) S 3R
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Q72

Q73

Q74

Q75

Q76

Q77

MS-1

There are
India.
(A) 17
(B) 12
<) 9
(D) 7

international airports in

Gatimaan Express is a semi high speed
train that runs between New Delhi and
Agra with a maximum speed of

km/hr.

(A) 120

(B) 140

(C) 130

(D) 160

Which of the following is NOT a west
flowing river in India?

(A) Narmada

(B) Sabarmati

(C) Luni

(D) Krishna

India has about
(A) 11
(B) 18
(C) 15
(D) 12

major ports in all.

The Constitution of India was adopted by
the Constituent Assembly on and
came into force on 26th January 1950.
(A) 29" October 1949

(B) 22" December 1949

(C) 26™ November 1949

(D) 3 January 1950

National Panchayati Raj Diwas (Day) is
celebrated every year in India on

This day marks the passing of the
Constitution (73rd Amendment) Act
1992,

(A) 26 June
(C) 12 August

(B) 24 April
(D) 23 September
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Q72

Q73

Q74

Q75

Q76

Q77

IR H SO BT g # |
(A) 17
(B) 12
© 9
(D) 7

TR Ty U T 818 WIS 97 &

ST A% faeell 3R 3RT & 914 31feihaH
fheiriiexr ufay € @1 iy 7 Ferel

=

(A) 120

(B) 140

(C) 130

(D) 160

3 | DI W A4l IRd § gf¥as fewm
# g8l T4l T8l 87

(A) ¥HaT

(B) TERHAT

(C) T

(D) P

ARA H TR P 48 & |
(A) 11
(B) 18
(€) 15
(D) 12

YR BT HioeIH, Gide 91 §RT

H IMERIT AT o 3R 26 ST 1950
DI TN 3T oI |

(A) 29" 3rFTER 1949

(B) 22 faHaR 1949

(C) 26" FddR 1949

(D) 3" S 1950

gfy I IR #H I dERd o7 s
(fa=) DI HHARIT ST &1 I8
o Gfde (73df Heiem) sfaifam 1992
® SR B BT YT o |

(A) 26 S (B) 24 3ia
(C) 12 3FTE (D) 23 RydeR
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Q79

Q80

Q81

Q82
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The Schedule of the Constitution
of India contains provisions regarding the
administration of tribal areas in the states
of Assam, Meghalaya, Tripura and
Mizoram.

(A) fifth

(B) tenth

(C) sixth

(D) fourth

The 73rd Amendment 1992 added a new

Part IX to the Constitution of India titled
covering provisions from Article

243 to 243(0).

(A) The Minor

(B) ThelJudiciary

(C) The Panchayats

(D) The Houses

Which Article of the Constitution of India
deals with protection of monuments and
places and objects of national importance?
(A) Article 48

(B) Article48A

(C) Article 49

(D) Article 50

Mahatma Gandhi advocated a
economy.

(A) Local

(B) Centralised

(C) Decentralised

(D) Global

For Mahatma Gandhi,
“symbol of unity of Indian humanity, of

was the

its economic freedom and equality”.
(A) Khadi

(B) Wheel

(C) Salt

(D) Yarn
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Q78

Q79

Q80

Q81

Q82

RA & I @ ST H
31, HeTer, FIgRT 3R ASiRH It §
SR &l & Ueed & Hder ¥
ORI 2 |

(A) TrEd

(B) <9dT

(C) B2l

(D) drh

73 Hfders HeeE, 1992 & gRT ARG
e # e 9 U uReeg
IX SIIST T SIT 328w 243 ¥ 243 (0)
D

YR HaR Bl B |

(A) 3T DR

(B) ~IRIUTIhT

(C) Yarad

(D) waT

WRT & HITH BT B AT 3FTea TS
5 & WRDI 3R W@IFT 3R awG3AT BT
GReT 9 A&fd 87

(A) 3T 48

(B) 31T 48A

(C) 31T 49

(D) 31T 50

HETHT TR |
THTAT B |
(A) @I
(B) B
(C) Ra=pd
(D) T

3R BT

HEIAT TR & forg, ORI
qEadT &1 Ubdl, $Ab! 3Nfeie Tad=dr
3R FHICT BT Wil o |

(A) =<l

(B) ufgar

(C) P

(D) &mm
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Q84

Q85

Q86
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Which of the following is NOT one of the

important reforms in the banking sector

in India.

(A) Reduced cash reserve ratio (CRR)
and statutory liquidity ratio (SLR)

(B) Deregulation of interest rate

(C) New generation banks

(D) Increased SLR

According to the Forest Survey of India,
the actual forest cover of India is

of the geographic area.

(A) 17.23%

(B) 18.5%

(C) 21.54%

(D) 20.67%

The
CPU and the main memory.

acts as a buffer between the

(A) primary memory
(B) cache memory
(C) secondary memory
(D) RAM

The Yogi Adityanath government in Uttar

Pradesh has teamed up with the Union

Human Resource Development ministry

to develop an “overarching framework for
reform” in Uttar Pradesh.

(A) school education

(B) environment protection

(C) road safety

(D) electricity forall

in Uttar Pradesh that
Buddha preached his first sermon and laid

It was at

the foundations of his order.
(A) Kushinagar

(B) Sankisa

(C) Sarnath

(D) Shravasti
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Q83

Q84

Q85

Q86

Q87

g9 9 dIF W 9Rd § dfeT &F §

HEIqU GEIRT § | Udh 81 B |

(A) ©<T 88 ¥l 3R, 3R, 3R U4, U,
3R,

(B) =TT &R T faf-rams

(C) 73 Uil 9%

(D) dfSfd TH.USARIR.

g TOMRT & FRIIT & HATdd, HIRA Bl

IRfad a9 HAR HTIfoTd &5 BT
2l

(A) 17.23%

(B) 18.5%

(C) 21.54%

(D) 20.67%

B UHHIT $HBTs (CPU)
3R = Wfd & 919 U %R & WY H
DR BT B |
(A) merfis wfa
(B) e wfl
(C) Areafis i
(D) uigfees M wfa (RAM)

SR U< # arf enfae e WReR A
HATT AT FARN Ab 711 & ARl
Iy SR Uaer | 55 2IN
& ferg Afcayel gian” fasiyd &= &1
PHaH ST B |

(A) fene R

(B) TITaROT GRETOT

(C) AP Jret

(D) 9 & forg fasren

TR U< B H gg 1 3T
UgelT SUQy faur 8iR 3mgq wrifafer o
RIEISCI

(A) BATR

(B) wfdeerr

(C) ARATRI

(D) HTa&N
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In January 1858, Lord Canning proceeded
to and formed the North Western
Province excluding Delhi division.

(A) Ahmedabad

(B) Allahabad

(C) Bhubaneshwar

(D) Travancore

On _, a new state called

Uttarakhand was carved out from the
Himalayan hill region of Uttar Pradesh.
(A) 7" December 1999

(B) 9" November 2000

(C) 23 October 2000

(D) 4" March 2000

1s one of the most spectacular folk
dances of Uttar Pradesh. The dance
involves a tough balancing act in which a
veiled female dancer performs with 108
oil lamps placed on a wooden pyramid
platform on her head.
(A) Raslila
(B) Ramlila
(C) Khyal
(D) Charkula

Uttar Pradesh is one of the country’s major
producers of

(A) timber

(B) coffee

(C) sugarcane

(D) leather

having been designated as the
Governor of Uttar Pradesh by the
President of India on 14th July 2014, took
the oath of office on 22nd July 2014.
(A) Hriday Narayan Dikshit

(B) Yogi Adityanath

(C) Ram Govind Chaudhary

(D) Ram Naik
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Q88

Q89

Q90

Qo1

Q92

STFTeRT 1858 H, dfs dfeiT EZ
ol U 3R facell SIS &1 Bredy
STRI g3 wid &1 T8 fha |

(A) 3BAGHEIR

(B) ZeIBMEIR

(C) HaieeR

(D) FATAUIHR

DI SR U B RA g8
& ¥ SaRRES TG Uh 1T I 31Raa
# 3|
(A) 7 &R 1999
(B) 9 TTddx 2000
(C) 23 3raca 2000
(D) 4 |TE 2000

SR UG & | MR Al
AT H W TP T | 39 el H Yb bl
A T AT & T4 U Hoe bre
HigelT Fdd! RR R sl & RIS &
H9 R Th GRI 108 oY @ B T™
RGN
(A) AT
(B) Ml
(C) @
(D) TREG

JTR UaT A& T SEIEEa
HA TP B

(A) AH

(B) Il

(C) =

(D) =T

RA & TRl §RT 14 T8 2014 Bl
SR U & T & wU | A1Ad
fhU ST9 & 918 22 SR
2014 &I Ug P 9T ol |

(A) gsU ARIYOT Slferd

(B) arfT anfaerer

(C) XM MfdT FRRT

(D) X g
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Uttar Pradesh is the most populous state

of India, and its population density is
per sq. km as per the number given

by Census 2011.

(A) 829

(B) 330

(C) 760

(D) 650

The new Uttar Pradesh Civil
Promotion Policy 2017 has been
introduced to promote investments and
trade in Uttar Pradesh. The policy will also
promote tourism in the state.

(A) Service

(B) Aviation

(C) Tourism

(D) Trade

Owing to the Uttar Pradesh state’s large
base of it has emerged as a key
hub for IT and ITeS industries, including
software, captive business process
outsourcing (BPO) and electronics.

(A) agricultural products

(B) tourist destinations

(C) skilled labourers

(D) vast culture

Peripheral devices connect to a computer
system to add functionality. Which of the
following is NOT a peripheral device?
(A) Mouse

(B) Scanner

(C) Printer

(D) Motherboard
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Q93

Q94

Q95

Q96

TR U9 Rd BT Fad 31fers 3naral
qIell T B, 3IR SRT9ET 2011 O <
TS EAT & AR SHD! AETa] T
_ ufa ot fed B

(A) 829

(B) 330

(C) 760

(D) 650

IR U< H A IR AR BT qTa

T4 @ fav 98 SR U<y fufad
HaelT i 2017 U=T @1 T

2 | T Iog # wied o | §gmar < |

(A) afds

(B) &A™+

(C) gde

(D) @MIR

SR URe I & BT 9T
JTETR 3ME <1 3R 31 <1 S el &
fy U@ @ @ @& wU § W 3,
o dideR, dfteg o= g™
JTSTHIRFT BPO (d1131) 3iR gelagi~ad
omAer £ |

(A) P g

(B) wied w1t

(C) PIererqol s

(D) fazmer weepfar

gRelT SUHRUT HRIEHAT Siled @ folg
PR RIeH | dide BN & | mferaa
# W B A g SUSROT T8 87
(A) H189 (Mouse)

(B) ®hR (Scanner)

(C) Y=b (Printer)
(D) AicX 918 (Mother board)
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Q97

Q98

Q99

The

common type of computer. It is used to

______ computer is the most
process information with quantities
usually using the binary number system.
(A) hybrid

(B) digital

(C) analog

(D) complex

Which of the following is NOT a way in

which a virus can infect your computer?

(A) Sharing music, files or photos with
other users

(B) Creating documents and PDF files

(C) Opening spam email or an email
attachment

(D) Downloading free games, toolbars,
media players and other system

utilities

The Second Generation of computers
were witnessed in the years from:

(A) 1940-1956

(B) 1963-1972

(C) 1957-1962

(D) 1973-Present

Q100 Third generation of computers were

MS-1

witnessed in the years from
(A) 1940-1956

(B) 1963-1972

(C) 1957-1962

(D) 1973-Present
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Q97  HWER P W I UBR |
BT SYART 3MH dR R LTy wver
YUllell &1 SYART HRDp AFRN & ARl
SMEHRI BT AT o) @ foru
ST B
(A) B=fas
(B) fSRtea
(C) TATATT
(D) Pivcidd
Q98 famfaRad # & &9 1 U U 3l B,
ST 9 U IR 31U HRICI DI HehiAd
PR FHAT 87
(A) 3T IYANTHARI & RS Wi,
AfIpTd (Brsew) a1 sl AT
BHRAT

(B) Yelkg 3R PDF (4l 1. U%.) Afady
(Prged) I

(C) ¥H HA AT 9 Hel\d Elet]

(D) Freages Wd (19), g, Hdifear
@I 3R 3T UoTlell IYAIRTamRI
DI SRAATS BHRAT

Q99 HeRl FHI T U (Whs ST+RIM)
b R T T8 ?

(A) 1940-1956
(B) 1963-1972
(C) 1957-1962
(D) 1973-qcH

Q100 gy Y eI YT & HRIER BT
TART Y[ BIIT o |

(A) 1940-1956
(B) 1963-1972
(C) 1957-1962
(D) 1973- ada™ gd=q
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GENERAL SCIENCE

Which among the following is an example
of a class II lever?

(A) Wheel barrow

(B) Forceps

(C) Tongs

(D) Kanife

What is the unit of electrical current in SI
system?

(A) Watt

(B) Volt

(C) Candela

(D) Ampere

The force exerted by a charged body on
another charged or uncharged body is
called:

(A) Magnetic force

(B) Electrostatic force

(C) Gravitational force

(D) Mechanical force

Which among the following holds true for

friction?

(A) Friction opposes motion

(B) Friction doesn’t cause wear and tear

(C) Friction doesn’t cause waste of
energy

(D) Friction doesn’t produce heat

In comparison to liquids, the arrangements
of atoms in solids are:

(A) far apart

(B) not closely packed

(C) very closely packed

(D) less closely packed

Which among the following is a chemical
change?
(A) Burning of crackers
(B) Heating of magnesium wire
(C) Drying of clothes
(D) Dissolving of sugar in water
28

Q106 =feIRad @ & wF A1 YIRS aRdcH

[N

Q101 f=faRad & & &I 1 fadhed, T 11

AlaR BT SETENIT 87
(A) & R

(B) BRIG

(C) ei=4d

(D) TIg®

Q102 f3STell & TRe &I TH.IME IMT &RAT &7

(A) g€
(B) diee
(C) Hsal
(D) TRRR

Q103 3MART &1 T8 UPh %] gRT el 3=

AR T TS TR T AR 7 B
T qRG W Y T o BT FAT Bl
27

(A) 9T 9

(B) fagawifas I

(C) T[THYT g

(D) TiF® 9

N N

Q104 =¥ & Hey # fA=faRad & & &9 41

fqerea &1 8°?

(A) =907 7T BT fORIET el 2

(B) ©YT Te—he BT HRUT T8 BIAT &

(C) =¥ | Sull ¢ T8 Bt &

(D) T¥UT ¥ IOIAT BT I 81 Il
B

Q105 TReT UqRl ®I ol ¥, o ugrRl H

IRATRIT BT ARy fhd avE giar 87
(A) R-R 8T &

(B) IR W 7TE! €I B @

(C) 980 9RI®I | 9 81 &

(D) ®H IRIBT | & BT 8

[N N C

87
(A) UCTET BT STl

(B) AR IR &7 TRA BT

(C) BUS G@FIT
(D) Ul # AT BT g
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Q107 Which of the following is the symbol of
lead?
(A) K
(B) Pb
(C) Au
(D) Na

Q108 Who discovered Protons?
(A) James Chadwick
(B) John Dalton
(C) Ernest Rutherford
(D) Eugen Goldstein

Q109 Siliconisa
(A) metalloid
(B) metal
(C) non-metal
(D) noble gas

Q110 Blood enters the kidney through the
(A) external iliac artery
(B) renal artery
(C) axillary artery
(D) ulnar artery

Q111 What s lactose intolerance?

(A) Itis a condition in which the small
intestines are unable to break down
the sugars found in dairy products.

(B) It 1s characterised by adverse
reactions to gluten.

(C) Itis a condition whereby fructose is
not efficiently absorbed into the
blood.

(D) Itis a condition in which the small
intestines are unable to break down
gluten.

Q112 Which among the following is the body’s
largest internal organ?
(A) Kidney
(B) Stomach
(C) Liver
(D) Lung
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Q107 f=feiRaa # & @9 A1 fakbey, oS &1
fos o7
(A) K
(B) Pb
(C) Au
(D) Na

Q108 f=ferRad # & fhas Uieis &f @t &
or?
(A) o= disfasm
(B) S Slee
(C) Tie Baxwre

(D) Ioid Tege

Q109 fafermpt= @ 87
(A) SueTg
(B) &mq
(C) 3rerg
(D) FI9a 4

Q110
BT B |
(A) 98T STOTH TRl
(B) o el
(C) Pl el
(D) T URINGHT e

S AT 9 o H TR

Q111 I Sciod &7 87

(A) 0 Rerfa w8t BT sriafsar, g
STl 7 AiE A BT dre 8
qrel

(B) e @ ufcr fauRia ufafdsamd, saast
faQmer Brft 8

(C) VT Reafc Si8T hae ™ <6 o qRI
RE W ARG T8} foram ST &

(D) VT Rexfr 18!, BICT ariafsa, e
CARGISIC RN

Q112 fAfaRad & & & 41 fAbed, IRR &1
T g7 3NdRH 3T 87
(A) <t
(B) U
(C) "R
(D) ®WHSI
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Q114

Q115

Q116
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Which among the following is composed
of nerve fibres that mediate reflex actions
and that transmit impulses to and from the
brain?

(A) Motor neuron

(B) Spinal cord

(C) Cerebral Hemisphere

(D) Cranial nerves

Where in our body does 90% of our total
nutrient and mineral absorption take
place?

(A) Kidney

(B) Large intestine

(C) Stomach

(D) Small intestine

The deficiency of which of the following
vitamins in children causes rickets?

(A) Vitamin B

(B) VitaminA

(C) VitaminD

(D) Vitamin E

Select the vitamin deficiency disorder in
which major symptoms are dark red
patches that occur on the face, neck,
hands, calves and feet.

(A) Pellagra

(B) Beriberi

(C) Scurvy

(D) Night blindness

Based on United States Department of
Agriculture (USDA) guidelines what
should be the daily calorie intake of
sedentary men and women over 30 years?
(A) 1,000 to 1,400 calories
(B) 1,000 to 2,000 calories
(C) 1,600 to 2,400 calories
(D) 1,600 to 1,800 calories
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Q113

Q114

Q115

Q116

Q117

™~

frferRad & & o9 A1 df3ieT Bigar O
g7 & o wfafde feaet #§ #Aegvern
PRAT & 3R ST ARGSH BT SMA BT
JMET—YaTH BT 87

(A) HIey W (|Ri)

(B) %S

(C) UARTH el

(D) HUTed T

IR YRR H et I eal el @il
BT 90% INR B s vRT # Faifes w9
I ARg ferar Siar 87

(A) ef

(B) Sl 3ids!

(C) e

(D) BIET 3T

frferfRaa § § fod fQe™= @ &0 9
gai H @1 T (Rave) He bR ger
BIAT 57

(A) et 4

(B) fderffm ¢

(C) faerf= S

(D) faerfa €

famforRaa # & 99 e o &7 9
AR &1 a9 o S 58, Tel, R &
o 2w 1@ R & dSt 9 a1t 31 &
e Iq BT B |

(A) YamuT

(B) S¥1{T

(C) Wl

(D) ke

WYH 19T IAANBT HIRT Fgermy
(F U 3Y) fe=HEel & IR 30 A1
W 3N Y B MISHT goui 3iR Al
BI UlAfae B bRl GRIb BT Ha
AT ATMBY?

(A) 1,000 ¥ 1,400 daART

(B) 1,000 ¥ 2,000 &aRT

(C) 1,600 ¥ 2,400 DAy

(D) 1,600 ¥ 1,800 el

SET-A-A
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Q118 Identify the scientist who discovered the

vaccine for small pox.
(A) Edward Jenner
(B) EvaEngvall

(C) Louis Pasteur
(D) Emile Roux

Q119 Which among the following is NOT a

mosquito-borne disease?
(A) Dengue

(B) Zika

(C) Chikungunya

(D) Ringworm

Q120 The process of evaporation of water

Q121

MS-1

through minute pores or stomata from the
leaves of plants is called:

(A) Condensation

(B) Sublimation

(C) Transpiration

(D) Precipitation

According to National Health Service
(NHS), UK and U.S. Department of
Agriculture, what should be the calorie
intake of an adult active man?

(A) 2500 calories

(B) 1500 calories

(C) 2000 calories

(D) 3500 calories

31

Q118

Q119

Q120

Q121

™~

ffofRag & @ g dsnHe 3 9w

Bq Il &1 Wiol fhar or?
(A) TSTE SI=R

(B) a1 graret

(€) g TR

(D) Tffell JferT

frforRad & & &I 91 78R I I
T T8 87

(A) §7

(B) fStaT

(C) faggfran
(D) =re (Rera)

gl @1 uRkidl & 9ga B fogl, semEn
WHET @ SIRY UMl & aTidRoT &l
FIT BB B°

(A) BSTHA

(B) Wl

(C) grafoRer

(D) wraftce

R Bl WY (TA.UA.0d), Ib 3R
YUY, [SUrcHe 3ifh Widhear & AR,

TIP Alhd ARE BT dARl Had a1
BT AMBY?

(A) 2500 DR

(B) 1500 dbely

(C) 2000 HART

(D) 3500 DRI
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Q122 Deficiency of which of the following Q122 P HH A FEARRIDY AHD

component of food induces a disorder fOPR ST~ BT B |
known as ‘kwashiorkor’? (A) PrelERERC

(A) carbohydrates (B) 9IH

(B) protein (C) EfreT gl
(C) minerals (D) st

(D) fats

Q123 Which of the following is essential for Q123 #Araul¥rat @ fAfor 3R g+ 3k UeeTs)

building, repairing and growing muscle M @ forg fA=faRaa § & o9
and building antibodies? JTATTH 87
(A) Protein (A) 9IH
(B) Carbohydrates (B) PralgERC
(C) Vitamins (C) faer =
(D) Calcium (D) fczrad
Q124 What is the S.I. unit of pressure? Q124 9@ BT THIATS. e &AT &7
(A) Meter (A) #iex
(B) Kelvin (B) dicas
(C) Pascal (C) Tt
(D) Newton (D) =ge

Q125 In photosynthesis, light energy is Q125 YBTRT—%eiyoT H T b ol #

converted into . gRafdd 81 St 872
(A) thermal energy (A) 19 SHofl

(B) heat energy (B) S™AT Sl

(C) mechanical energy (C) Tifd ol
(D) chemical energy (D) IRMAE SHofl
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ARITHMETIC

Q126 Evaluate the following equation:

36-2(20+12+4x3-2x2)+12="2
(A) 2
(B) -2
(€ 4
(D) 4

Q127 Evaluate the following equation:

(449+144)° —(449-144)° 0
2(449x144) o

(A) 1

(B) 2

©€) -2

(D) -1

Q128 Find the value of /0.8 (correct to 3

decimal places).
(A) 0.964
(B) 0.694
(C) 0.984
(D) 0.894

Q129 Evaluate the following equation:

(3+11%22+6) —(9+4x12+3)+
(25+11 x22+10)="

(A) 5

(B) =3

(€ 9

(D) -9

Q130 Find the value of x.

121 121
121 x
(A) 0.00121
(B) 0.121
(C) 0.0121
(D) 1.21

Q131 LCM of 10%, 112 and 122 1s:

MS-1

(A) 435600
(C) 345600

(B) 453600
(D) 654300
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Q126 fA=feIRad THIdBRoT BT B BY;

36-2(20+12+4x3-2x2)+12="2
(A) 2
(B) -2
(€ 4
(D) 4

[aN

Q127 fF=feiRad THidHRvT BT B8 Bv:

(449+144)° —(449-144)> _
2(449x144)

?

(A) 1
(B) 2
©) -2
(D) -1

Q128 Jo.g8 T HF HIT BRIT?

(A) 0.964
(B) 0.694
(C) 0.984
(D) 0.894

Q129 B3+11x22+6) —(9+4x12+3)+

(25 + 11 x 22+ 10)=? & STR &
ERTT?

(A) 5

(B) -3

© 9

(D) -9

Q130 x &I HH I BN |

121 121
121 «x
(A) 0.00121
(B) 0.121
(C) 0.0121
(D) 1.21

Q131 102112, 3R 122 BT TTETH FAMA(I

(TeT =i gA) T gITe

(A) 435600 (B) 453600
(C) 345600 (D) 654300
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Q132 If %=7, then (a“ +a—4j= ?

(A) 2599
(B) 2699
(C) 2207
(D) 2209

Q133 Two numbers are such that the ratio

between them 1s 2 : 7. If 4 is added to
each of them, the ratio between them
becomes 4 : 9. The original numbers are:
(A) 8,28
(B) 4, 14
(C) 6,21
(D) 2,7

Q134 How much will ¥ 2500 amount to after 3

Q135

Q136

MS-1

years when the interest is compounded
annually at the rate of 20% per annum?
(A) T 4200

(B) T 4230

(C) T 4320

(D) T 4310

If the difference between the selling prices
of a bag at profits 10% and 11% is I 11,
then the cost price of the bag is:

(A) T 1100

(B) T 1000

(C) T 1200

(D) T 1010

240 men can complete a piece of work in
30 days. After working for 12 days, 80
men leave. In how many days will the
entire work be completed?

(A) 27

(B) 39

(©) 32

(D) 34

34

L o
Q132 ufy "7:7, 2 (a +a—4]zm M

FAT BIIT?
(A) 2599
(B) 2699
(C) 2207
(D) 2209

a1 Ul e 8 fOrFeT arguTd 20 78 |
e ITH ¥ ID H 4 SIS AT S,
SABT STUTT 49 BT SIT & | el HeAg
CRIR-{

(A) 8, 28

(B) 4, 14

(C) 6,21

(D) 2,7

Q134 afe <ara1 20% ufd a8 &1 <® & aftfa

®U ¥ GAITT 8IAT B, AT A o 1P 3
Iy o TA I 2500 BT A fHar 8
SITQET?

(A) T 4200

(B) ¥ 4230

(C) T 4320

(D) ¥ 4310

Q135 afd 10% 3R 11% & N R TH &7 B

fagpa gt &1 ofar T 11 8, a1 &7 &1
ANTT g T 2°

(A) T 1100

(B) T 1000

(C) T 1200

(D) T 1010

Q136 240 @ftp fbell HRI—TT BT 30 faai #

quf R FHh 5 | 12 &AT db Bl e
& UedTd 80 fth BRI BIE B del Y |
ol B fdbde faAr § qoi sr?

(A) 27

(B) 39

(€) 32

(D) 34
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Q138

Q139

Q140

Q141
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The distance between two stations 1s 400
km. Two trains start simultaneously from
these stations on parallel tracks to cross
each other. The speed of one of them is
greater than the other by 5 km/hr. If the
distance between the two trains after two
hours of their start is 170 km, find the
speed of each train?

(A) 55 km/hr, 60 km/hr

(B) 60 km/hr, 65 km/hr

(C) 75 km/hr, 70 km/hr

(D) 55 km/hr, 50 km/hr

A train can finish its journey in 10 hours
at the speed of 48 km/hr. If the same
distance has to be covered in 8 hours, what
should be the speed of the train?

(A) 45 km/hr

(B) 50 km/hr

(C) 55 km/hr

(D) 60 km/hr

A cistern has two inlets that can fill it in
10 hours and 15 hours, respectively. An
outlet can empty the full cistern in 12
hours. If all three pipes are opened
together in an empty cistern, how much
time will they take to fill the cistern
completely?

(A) 16 hours

(B) 10 hours

(C) 12 hours

(D) 15 hours

In a day, how many times are the hands of
a clock perpendicular to each other?

(A) 44 times

(B) 22times

(C) 11 times

(D) 88times

6™ August 1987 was a:
(A) Saturday (B) Wednesday
(C) Tuesday (D) Thursday
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Q137 31 WMl & d1F @ 0 400 km B | 34
I W TR 9eRAT R |1 21 Uh
TR DI AR T AR I URH Bl
21 U o P I gad g9 &I I Bl
T # 5 km /h 31 B | Af qE1 AT
@ 9 @ A b dod B 2 ©Hl B
99T 170 km 8l 4 9P o &I (A

ST BN |

(A) 55 km/hr, 60 km/hr
(B) 60 km/hr, 65 km/hr
(C) 75 km/hr, 70 kmv/hr
(D) 55 km/hr, 50 km/hr

Q138 Udh ¢ 48 km/h &I 7T & 31U+ IATAT
10 gct 9 gof &= HasddT 87 afq ga- a1
0 8 =l § T BN 8, AT ¢ dl i

ERINCIRINC ] N
(A) 45 km/hr
(B) 50 km/hr
(C) 55 km/hr
(D) 60 km/hr

Q139 U& Tl # T 7 1T & Sl 39 HHE 10
gei 3R 15 €l # WR ddhd 8| Tb d
qofd: w1 €& I 12 ©ei H |l )

GhdT 2 | Ife w@rell ST B d1 Telf Bl
Teh AT Wiel fear Sy, a1 <l ol ot

R # fhaar T SET?
(A) 16 Tv¢
(B) 10 &v¢
(C) 12 &v¢
(D) 15 €ve

Q140 =T &7 Al T 3T # fhaw IR U@

QR & F9aq BRIl 57
(A) 44 9R
(B) 22 §R
(©) 11 9R
(D) 88 4R

Q141 63T 1987 &I HIF T fa=T en?

(A) =frar (B) guar
(C) HTAR (D) TXaR
SET-A-A



Q142 Iftheside of an equilateral triangle is 6./3

cm, then find the area.
(A) 93 cm?

(B) 27\/5 cm?
(C) 27 cm?
(D) 9 cm?

Q143 Solve the following equation to find x:
6(5x — 4) = 16(5x + 1)

5
(A) 7

4
(B) 3

5
©) 7

4
D) 3

3
Ql44 If tan A = 1 then {(1+cosA)(1-cosA)/
. . 7
(1+sinA)(1-sinA)} - T =?

1
(A) S
(B) 5
O 1
(D) 0

Q145 If the mean of the following data is 20.6,
then what is the value of p?

xi | 10 [ 15 [20 [25 ]35
fils3lio]lp [7 |5
(A) 22 (B) 25
(C) 28 (D) 30

Q146 What is the number of elements in the
sample space when three dice are thrown

together?
(A) 216 (B) 36
(C) 1296 (D) 1026

MS-1 36

Q142 UH WHaTg FrST &1 9Tl 63 el B
PRIST BT e S N |

(A) 93 cm?

(B) 27\/5 cm?
(C) 27 cm?
(D) 9cm?

Q143 x BT AF S B3 & Ay FHIHROT
6(5x — 4)=16(5x + 1) BT B BN |

5
(A) 7

4
(B) 3

5
©) 7

4
D) 3

Q144 IS tanA= % &1l {(1+cosA)(1-cosA)/
(1+sinA)(1-sinA)}- % BT AF AT BITT?

1
(A) s
B) 5
©) 1
(D) 0

Q145 f=faRaa Ser &1 A/~ 20.6 B p BT
I RAT &7

xi | 10 |15 |20 |25 |35

i3 [tolp |7 [5

(A) 22 (B) 25
(C) 28 (D) 30

Q146 <9 Ul &I T AT Hebd U ufaast
e (e W) H deal & ST /7
BIT?
(A) 216
(C) 1296

(B) 36
(D) 1026
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Q147

Q148

Q149

Q150
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Sourin can retire when his age and the
number of years that he has worked add
to 105. At present, he is 40 years old and
has worked for 19 years. If he works
continuously until he retires, at what age
can he retire?
(A) 62 years
(C) 64 years

(B) 63 years
(D) 65 years

Gargee walks at 6 km/hr and runs at 10
km/hr. She saves 4 mins 30 secs running
instead of walking from her home to her
school. What is the distance (in km) from
her home to her school?

1
(Aa) 13
3

B) 1¢
1

© IZ

1
(D) 15

The value of 2sin 30° 1s :

(A) 2

(B) 0.5

©) 3

(D) 1

The average marks obtained by Subhayu
in 35 tests 1s 24. Indrani is maintaining an
average of 21 so far but has taken only 31
of the tests so far. If each test is out of 48
marks, at least how much does Indrani
have to score in any one of the remaining
four tests to still have a chance to match
Subhayu’s performance?

(A) 44

(B) 45

(C) 46

(D) 47
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Q147 AR &1 3R 3R THDH! Ha—3rafes &l

ART 105 8 9R I8 WdI-Ig<T BT el
B | adH H, SWHT Mg 40 I B SR
I9T 19 98t I Hr fPar 81 afe 98
WA B9 TP BRI HRal BT, Al

HATGT 811 UR g8 fdei=l g9 T BIIT?
(A) 6279 (B) 63 ay
(C) 64 a9 (D) 65 ay

TR 6 km/hr @1 T A Tl & 3R 10
km/h @7 3T & ST & | I8 310 B8R |
e a6 ge & RIF W als &X 4
e 30 Vbs BT THI & ofdll B |

IAD R H IHD (I & 1 BT G0
(fperier #) @7 87

1
(A) 1g
3

1
(© 15

1
(D) 15

Q149 2sin 30° HT A AT BEIT?

(A) 2

(B) 0.5

©) 3

(D) 1

Q150 35 UNIETRIl H IR & 3Mad UTdies 24

21 2590 @ 3iId Ui ol b 21 B
fhg SO 31T T Hadt 31 TR A 7 |
Il gde gt # AfRhaH e 48 B,
AT QIR & U&2M Bl aR1ENT DR & oY
30T & T A9 IR gRIeTRI H 9 fhedl
TP H HH A HH fhad 3fd U B BT
AR 3N AT B ?

(A) 44

(B) 45

(C) 46

(D) 47
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HINDI

PSG4 1 & 1Y TNy T UghR Ye T U2l
@ IR QINSTY S BT A7 2Teq IR B |
T @Y, BUE B, ARG DI AT A
IE—f3T B | ST BT e ¥ 968 A W
2 | AT RO W, 2, sraa—Refa
— HYIH IR — A7 A1 G & ofd
IRAM! ¥ TS ST FHdT 24 - I B
Al & Ao IuQT HI A 3ol W T
PR I T gHTEl W q Bad AT
| ST & 3RvI H g BU Yo & gad
R UG AR AT B Siad & A
IRAMT & I H GAR & B gellg @
He—Hg FICT Pl IR TR BT Wy Hedel
BIAT B |

Q151 9H &Y a7 8—
(A) 3ref - *fza
(B) ¥1a - 3fgd
(C) =+ - fBd
(D) Trex - f3a

Q152 '3RUY’ &7 YMMfeges 3R] BIAT B—
(A) o1
(B) SiiTe
(C) SYa+
(D) g™

Q153 ‘IsT W M 2—
(A) 1997
(B) X1
(C) v
(D) uRs™

Q154 Tener # feaa! AfgAr &1 auiF 87
(A) 3MmaRoT
(B) ¥
(C) Sira=
(D) d

Q155 eI BT IWYH LoD BT
(A) UH BT AT
(B) SIIAT BT 3RY
(C) =T 3R
(D) AF IR
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Q156 IMADTT U & Fe¥ H HIF Al B
Teld 87
(A) U3 & I HIR U7 forwrd
g |
(B) U W& & SR fafdr fordl S
g |
(C) U3 & 918 3R Har #' ferar Siral
g |
(D) HaRM ‘Helgy 918 3R formar Siman
g |

Q157 Ife PR 9= O TG HRTAT B Ui
oo SITar 8, A S BHEd o—
(A) Tafthe o=
(B) BT 3N
(C) Sty
(D) gRu=

Q158 v # €1 WR P19 41 27
(A) sm
(B) 3n
(O
(D) T

Q159 71 # 3=y &SH B T 87
(A) @
(B) 9
(O
D) 3

Q160 7= # AT &S I AT 87
(A) @
B)
(O]
(D) #

Ql61 = # ey qof H1F a1 27
(A) 9
B) @
© 4
(D) T
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Q162 71 ¥ ®vsw qul HIF A1 87
(A) S
(B) 3
©) =
D)

Q163 fm=faRad # we osg -
(A) Erare
(B) gs9HdR
(C) -
(D) TR

Q164 AR BT A e grm—
(A) I + 3R
(B) I + AR
(C) X + X
(D) 3T + 3mx

Q165 U™ # T B—
(A) TT>H
(B) 3
(C) g5

(D) &

Q166 TRHHT F U 8-
(A) 31
(B) 9
(C) =
(D) aR

Q167 I’ o UTT 2—
A) 3
(B) 3mg
(C) =g

(D) #

Q168 < # B9 AT Ieg dedH &7
(A) 3MTel
(B) 3
(C) smT
(D) 3Rt

MS-1
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Q169 7 # B9 AT Tex Tgva &7
(A) 7of
(B) fos
(C) =
(D) Ba

Q170 f1 # B AT g ITST &7
(A) 3T
(B) d=n
(C) Ras®!
(D) et

Q171 =1 # fageh v P19 <7 87
(A) S%
(B) 3MRR
(©) o=
(D) ¥<h

Q172 ¥ ¥ Hsm =g &—
(A) 7
(B) 9T
(C) rem
(D) Her

Q173 = & |dam g 8-
(A) &
(B) 9T
(C) B
(D) Ge

Q174 4= # fagmoT oreg 38—
(A) garar
(B) <I$
(C) P&
(D) =id

Q175 = # wRvmeie fhar 38—
(A) T
(B) ST
(C) Ge
(D) ST
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Q176 & # gy B—
(A) 9IRd
(B) zum™
(C) ame
(D) gfeoy

Q177 ‘3RG BT G 8—
(A) <red
(B) drae®
(C) aud
(D) W

Q178 ‘Sig’ &1 faam 28—
(A) ST
(B) @
(C) fagm
(D) =d+

Q179 “afos # 89 a1 & U U e o—
(A) |
(B) Td
(C) fara
(D) 3T

Q180 JAfet—3rFdl 3 I &I Aal 3nef o
(A) AFT—8dT
(B) Ba—31mT
(C) BI—STe
(D) SITel— 3T

Q181 /1 # &I ¥ e IFBRIG 87
(A) SFHE
(B) 3y
© arferm
(D) aref

Q182 f= # i & gfic 9 Y= v B
(A) SEMBR
(B) SRR
(C) =TT+
(D) SFTHY

MS-1 40

Q183 f=1 & ad ot gfic W aRIE ¥R B
(A) TIHRTD
(B) sreaiicAd
(C) sfcrsTiie
(D) 1M

Q184 71 % Pl BRB BT IR BT AT 87
(A) B
(B) 71
(C) |
(D) ¥

Q185 =1 ¥ YfeaiTT e I AT 57
(A) <
(B) AT

(C) a1y
(D) ==

Q186 = # EAfehT 2sg P T B°
(A) 2T
(B) =
(C) aret
(D) T4

Q187 fHHA®T WANT Hd Udhaad # BIdT &7
(A) 71
(B) AP
(C) uryg
(D) =R

Q188 7 # I BTt BT IITET B
(A) SE YT o |
(B) a8 YuIh TS|
(C) 98 ST & |
(D) 98 Wl & o |

Q189 ¥ ¥ HHAT BT IATERIT B—
(A) v foran Smar g |
(B) ¥ Y¥id Ugdl & |
(C) ¥rar v foracht 2 |

(D) 9T daT T8I S|
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Q190 %1 # ®F AT I/ A a1dd T8l B°
(A) TISHT Qs B |
(B) ¥} US W 4 ® o |
(C) ¥4 IS &I e |
(D) 39 el &1 Se & b AR ¥ gig
Bl |

Q191 H9 I§ HM P o ARy aag |
NYE I &
(A) #9
(B) I8 &M
(C) PR oAl
(D) =fey |

Q192 319 faxe &7 fore 28—
(A) ;
B) ,
<) |
(D) !

Q193 ‘33T Wel 7 HHAMI HB[AX &I ol
aref B
(A) TR &I
(B) 3T &I
(C) 98d 3rHfad gl
(D) §HRY BT

Q194 ‘3MRI R IR IGAT HBTAX BT Aol 3fef
T B°
(A) T &
(B) WHSIER BT

(C) P BT
(D) SR At <l

Q195 ‘BFER fdRa™ & BI b U AlbIfh
BT BT 31l B
(A) BFER dTeid {aX BT 2 |
(B) G&R 917% BFBR BT & |
(C) BFER d1dd & OT 999 ¥ B
fewarg 7 oIl B |
(D) BFER dTcid X 8! BT B

41

Q196 T ¥ §gHY T BT 3] Th B3l o
ferw wEl <eplfth 8-
(A) R BT A% IV AR
(B) ¥R BT HaT T
(C) 93IT W HIqdIa 3 ST BIg &I
(D) |l T \aall, Well 3rdbel!

Q197 HSUTS T I A& BB o—
(A) wrargars
(B) BrITgas
(C) rRergas
(D) RIssTgars

Q198 71 # B9 A 9Tl SH. BT A8 27
(A) Haret
(B) &isil
(C) HIoTga

(D) &

Q199 WIfSHRY & forv wéle IS Iex B—
(A) OFFICER
(B) AUTHORITY
(C) LORD
(D) PROPRIETOR

Q200 ‘ORDER’ & fou weIes fa=dT vreg 8-
(A) foda
(B) foawr
(C) 3mewr
(D) 3rgae
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ROUGH WORK /Y% &1 & foru
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Read the following Instructions carefully :

fer=faRaa el & &1 9 0 -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. FEach candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination 1s over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate 1s only allowed to take Candidate’s copy
of answer sheet.

11.Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the

Invigilator after the exam.

1. UP yed & fog fu I IR fasmedl § 9
HE IR P U 2l UH, 3R, IR 9T W
B TP el BT B YRl RE <lel /Bled 91
dfge U9 W W | U IR SR 3ifbd fby o™
@ 918 I 93T T8I S AHhdll 6 |

2. qRIeTRll GRREd Y P STR UF Bl A7eT A
STV Ud B OR Pls 3 femE 7 T |
qRIeTRf JIUAT 3THHIG SR U H FEIiRT
®H & IMfARaT 3 7 o |

3. ORIET GRKIhT Ud STR UF BT ST -gdd GIRT
N, Fifd fedr O aRRefo # @ae ot
gRADT H BT BT BTG BR) T IRIET JRIID]
U SR UF SUSEl 81 BRIAT ST |

4. o0& g H &1 T okier YRkt WS
B TRl TE Wie | FR—uT # fore |

5. g8 ST OR e UNeTrell, @het afieietds bl
3T Yaer U 3wy |

6. JNNeTH TT PeT IF<INIeTD DI A=Y AT B
T P18 gereft argHT Wi A Bl |

7. PRIRA BeT IIRIETh P AR AT &
T wRERit AT wIe W8 B | afe
3t gemeif = BRI swRR 38 fbu
Tl I8 AET SO & S99 SR U 8]
SICHT & 3R I8 SR AEF BT Hel
HIAT ST |

8. UfRAel / SelagiFid / sXadield URdbeld Bl
SYART afSid 2|

9. TRIETT BfeT H 3MERYT & folv gRiemelt SRt
o I et vd fafest g fafia B
ST AEFT & AT AHAT BT BT AN
& fromi vd fAfrgE & srgar 8rm|

10. TR & SURIT 3Ll SR Ui el 3TINIeTdh
BT dleT © | IRRIPG gRT 3l dI IR
UFdh &I gLt Uil ST BRI ST I
STHD SURIT 81 BeT BT BIS Bl AR T
ST | SR U= &l angelt gfa snell &7
3O WRT o ST @7 3FART B |

110 & Iu_id weTRll dI o gRawT
a7 3ifaRetd T clier 8RT | okiet gReaeT
BT R 3w wer FEl of S Wbl B |
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